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such that: f(x) =x3 - 3x% — 9x, then oA - VT ()
determine the inflection point (if exists) o) DAY Loz IS a5
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triangle that could be drawn inscribed ina | Jsb 8,515 J515 ey ey 3L
circle whose radius equals 12 cm. Y e s lad
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Find the area of the region bounded by the | o 8y sea>e) ddaiadl dolue sl
two curves: y = x?,y = 4x . cor E= 02 T s 02 k]!
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Find the volume of the solid generated by | o {—=W! V_"'?J\ o o
revolving the region bounded by the two | o Ss—adl &l Ol 93

curves : o V=2 T E 2 el
y = x%,y = 2x a complete revolution A 5y 95 DLl g J g

about the x-axis .

21

v/ U.JLIJI JoaJl - d=alpoldulinl) A A auj



YV/TNT gy plad] - A g (B o 1 AL ) oS g (Lia it - Al s gL ol e Bl (el

Answer one of the following items 1 eI G p3aN (S e e
(a) Find: [ —— dx w;LlAwm)
a Ind - J 35244 ESTAL
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(b) Find : fez dx u—vj w"_n ’\‘.X.?-j\ (g_))
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